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Math-ENGLISH-Prepl-TR1-T-W13 (1)

1- The following data is the marks of 20 students in one of the monthly tests for
mathematics:

Intervals 10 — 20 — 30 — 40 — 50 —

Frequency 3 5 7 4

- Represent this data using the histogram.
- How many students got 30 marks and more?

2- If the following stem- leaf plot represents the marks of 20 students in an exam,
then find the median and the mode:

Stem Leaves
0 1 1 2 2 3 3 4 4 5
1 0 1 2 2 3 3 3 5 6
2 0 1 5 6\ 7 7 819/
3 7 8 9
Key: 39=39

3- The first quartile of the values: 16,10, 14,11,15,12is ...............

4- The mode of thevalues:8,7,9,7,9,7is .ceeuuerereenen.

5- The range of the set of the values: 14,12, 24, 35, 10 equals ...........
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Math-ENGLISH-Prep1-TR1-T-W13 (2)

1-The following data is the marks of 20 students in one of the monthly tests for
mathematics:

Intervals 10 — 20 — 30 — 40 — 50 —

Frequency 3 5 7 4 1

- Represent this data using the histogram.
- How many students got less than 40 marks?

2- If the following stem- leaf plot represents the marks of 30 students in an exam,

then find the median and the mode:
Stem Leaves

1 0 1 1 2 2 3 S 5 6
2 0 1 S 6 7 7 y/ 9 9
3 7 8 9

Key: 39=3|9

3- The third quartile of the values: 16,10, 14, 11, 15,12 is ...............

4- The mode of thevalues:3,7,3,1,9,5iS ccererernenen.

5- The range of the set of the values: 42,12, 24, 35, 10 equals ...........
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Math-ENGLISH-Prepl-TR1-T-W13 (3)

1-The following data is the marks of 20 students in one of the monthly tests for
mathematics:

Intervals 10 — 20 — 30 — 40 — 50 —

Frequency 3 5 7 4 1

- Represent this data using the histogram.
- How many students got less than 30 marks?

2- If the following stem- leaf plot represents the marks of 30 students in an exam,

then find the median and the mode:
Stem Leaves

0 1 1 2 2 3 3 4 4 5

1 0 1 1 2 2 4 6 7 8
2 0 1 S 6 6 7 7 9 9
3 7 7 7

Key: 29=2]9
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7- The mode of thevalues:3,1,3,1,9,1is ccceceverreernnnne
8- The range of the set of the values: 45, 12 , 24, 35, 11 equals ...........
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